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X 0 1 2 4
P(X) 0.5 0.1 0.2 0.1 0.1

1 Caiculate the mean vaiue ofx
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2. Interpret the mean value of x in the context of the problem {quiz will tell you the topic of the .
distribution| Tho querase aCore of fle event . over” Waney Troals
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3. What is the probability that a random x exceeds the mean number of x? |
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5. Multiply each x by 4 andfind the mean andstanda d deviation of the new distribution. @‘h\/
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The distribution of x s approxlmately normal with a mean of 20 and a standard deviation of 1. 3 ¥ 30,. é
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6. P(x>22) = e .
| S \eulade Any Yemy Wigh
uledor. n gy Yy
use Toble or CRICUI ot Keprese
7. Where is the Sercentlie? odle ‘he GMJ‘ e

\

TYEE \\5\(\@ \)J\/“C"‘ \gl\g%’ ?f‘aw\o‘\\)‘-‘/\ \\5 Zem a

\Y\V\\Surw\ .85 r\ 03l = Z 6&" 8%\’\‘7@-& . curve
xo20_ 1.0 €204 (8o peeotle, 2
8. What is the probablhtythatxls EXACTLY 21 minutes. Explaif: 5 =l
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A game is played w’ﬁere you roll a die. You win $5 if you roll a 2 or 3. You win $2 if you rolla 1. Any
other roll you pay $1.

9. What is the expected value of thls game if you play over a long period of tlm_‘_ ?
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10. Is this a fair game? Explain.
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11. P{x) =.35, you are deing 5 trials.

{a) Does X describe a binomial setting or a geometric setting? Justify your answer.
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{b} Compute the mean and standard deviation x.
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{c) Find the probabnhty that X occurs at Ieast 3 times.
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Now let’s suppose we keep trying until x occurs. y
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{(d) Find the probability that x occurs on the fourth attempt
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{e) Find the probability that x occurs after the third attempt.
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